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June 20]7
B. Com. IInd Semester Examination

BUSINESS MATHEMATICS

Time 3 Hours] [Max. Marks : Regular 85/ Private 100
[Min. Marks : Regular 28/ Privat: 33
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Section A, B and C are compulsory for all Regular and Private students. Please
follow the instructions, given in each section, Marks distribution for all students

arce as shown in question paper. The blind candidates will be given 60 minutes
extra time,
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E
v N Tﬂgﬁl’% Scction A : Objective Regular 15x1=15/Private 15x1=15 ;E;
. R <
1. 9 afrt 12 T&g aarendt § 0 The third proportional to 9 and 12 is 2
) 12 (b 16 (e} 14 (d) 24. =
. =
2. T A 4/5° W and § 2 '4/5 of price’ mean 8
(n) 207 (b) 407% AeT 60% (d) 80%. =
3. Tt x-4=6, 08 x W A EAr: Ifx -4 =G, then the value of x will be :
(a) 1.5 (b) 2.0 Se? 10.0 (d) 24.0.

4. FTE[E (AD) FUIT # . Muatrix (ABY 15 equal to
_in) A'B (b) (BAY (c) B'A (d) A" =B

a spans wr ot 12wy opaT 8 €, T8 mem A _
The sum of two numbers is 12 and difference is 8. The larger number is :
ta: 12 A 10 {c) 8 (d) 4,

6. I e 30T S ofRe o sam oAb
The order of matrix having four columns and three rows is :
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i 3-4 S 4 >3 (c) 4 %4 (d) 3 x3.
v lx 2] [1 4] oy o
. ﬂﬂ\.a 5J {3 s}ﬂzﬁxa‘y
x 2y 1 4 lue of x and ¥ are :
Ii'[3 5:1—{3 E}thnnthcvn
dar 1,2 (b) 2, 1 ()3, 4 @ 1, 5.

- - = . . . . ; - an“pr
; A A AT ORI Which one of the ratios 12 )
> fa) 3:4 - (h) &6 Ay 7.8 (d) 17:16.

o %t s aAl dom w EETE T S x i qu Wy By ston ot .
' T digit nf'.n number of two digits is X and units digit is y. The number is
nne 4 B . .
J/a-'l {0x+y () 10y 4+ x (e) xy xsy.
10, log 302.056 1 g t . The churactoriatic of 108 302,056 is ;

(a) 2 (h) 3 _!'31 2 (di 3.
cmbi 4
T TS h : The derivativae of x4 .
e I (hy 3x (e} 22 (d) 3x=.
in) x ‘
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9 T : VY Il Section B : Short Answer
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TR flz) =+ 1 @S (-2) 8 2 IfF (x) = <2 4 1, then f(~2) will be :
(a) =5 b) 5 (c) 3 ) ~3.

450 v Wy 232 wf ¥ fRw 4% mffw A 2v @ gy e #
The simple interest on Rs, 450 at 4% p. o for 2V2 years is :

(a) Ra. 54 (b} Rs 22,50 {c) Rs. 90 Ad) Rs, 45,

1,000 570 1 10% afbs fr ot & 2 oof Tufiy wrrer g
The compound interest on Rs. 1,000 at 10% p. a. for 2 years will be :

(a) 2,100 th 21 A 210 (d) 1,021,
100 w9 § awy wlir X 90 &l & ¥ q¢ v § .
1 .
(3r) 100% ww (%) g7 uf (8 10% mf () 9:-% wfy |
To sell an article for Rs. 90 purchasing it far Rs, 100 means :
ta) 100% profit (b) 11%% loss (¢} 105 lpsa (d) 9%1-'?2- loss,

Regular 5x4=20/Private 5x5=25

TF T ¥ OF AR R 49% 0 PRy aur w50 wa ¥ @ o | v e | (=15 Faw
iR A o §) | g e

A candidates received 49% votes in an election and was defeated 50 votes, Fi
. Find out
total number of votes. (You may assume only twe candidates), by ind out the

. sqar OR
ITETT AiET wiwaer gy Rl ) e |

Explain the rules concerning the percentage with examples.
-

. T TRECT B ST v wwwn § 7

What do you understand by Simultaneous Equutions ?

FJgar OR
fan A TR A R ?
What do you understand by INVOICE ?

n&A:[g :].3A+5Hrr=rmuar;a |

Imz[g ”,ﬁnd 3A+ 51

_ I OR
sy war € 7 v faer s frmfive Rear o oy ¢ 2
What is Matrix 7 How is it arranged ?

agp A 'mﬂ;: xl?; " AT ol : Pind the value of x with the halp of logarithm where : |
Sxl. :
0.036

gy ORt
T ¥ qor Prow aaumm |

Explain main rules of differantiation.
50,000 w38 W 5% e wwrfy v f) 2T it g od a Foa WY Hifdeg |
Calculate the amount of Rs, 50,000 @ 6%, p. u. compound interest for 2 years.

s OR
mm#%ﬁimmﬂmm%wm I
Write the formula for finding time and rats in case of simple interest.
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1. % TS AR I ard @ 0.75% vt wr{reY ard & 1.5% et At ¥ 1 ol I 2ar® ¥ g e 4,050
o1 P & o wared P oo 3 ade ad § aur I O & B0t ven s O i s ke
faart & gamr 7
A broker charges brokerage @ 0.75% from the seller and 1.5% from the buyer of a house, If
ho gots a brokerage of Rs. 4,050, calculate how much amount of brokerage is received from
the buyer as well as soller and what is the price of the house sold ?

amar OR
Pt g W1 207 mriftE azey wr 5% e ¥2 3% & 41z 395 20 g N I | T 7 I g e
w1
After allowing 207% trade discount and 5% cash discount n commodity was sold for Rs. 395.20.
Find the list price of that commodity.

2. 2 3TR & A goar % sy wr apr 9 | aft wen ¥ o gaz R sy ) T ardl dor g aon 945
sifww &Y 1w e Dt | -

The sum of the digits of a number consisting of two digits is 9. If the digits be reversed, the
resulting number will be groater than original number by 45. Find the number.
gt OR
o iR W T A 0 war T By R B A ant 7t b 75 wwit B oy R P suftee @ 38
15 7 ot 391 03w | J0RA ¥ AT 3% A 1,890 e g 1 3w B fr ey far 7
An individual was employed on the condition that he will get Rs. 75 for the day he works and
will bo fined Rs. 15 for the day he is absont. After 30 days he got Rs. 1,890 only. For how
many days did he work 7
14 210
3. st A=/ 2 5 HﬂTB:[ ,]aﬂ'&u#ﬁﬁa‘rmm'.—m\t
0 45
|36
1 4 210
ITA=|2 5 |andB -:I- - - }Lhun prove that (AD) = B'A”
045
3 6
amrm OR
3A - 2B+ C =1 Wi o A : Find the value of 3A - 2.-“ +C:
2 6 5 2 7 9 5 0 9
A=[3 T 4 B=[0 5 G C-16 5 3
1 0 8 4 2 1 )| 0 2 4
4. frz w3 Prove that ;
65 133 11
_— — — =0
log T + log Tz + 108 35
saal OR
(1 + 322y (1 + 5x) #7 srwer sy AR |
Find the derivative of (1 + 32%) (1 + bx).

5. #rd aua ST I 4 avf a7 rmarror anoy orgwE 480 TR fprg o wmar € oft e e @ LS E A
A x w41 o wm A o
A certain rum and its interest in 4 yoears becomes Rs, 480, If interest is 1/5 of the principal,
find principal and the intereat rote percent per annum.

smn OR
7w 57wt gty a0 i w0 3,000 it oY orpd ?
Whi;:h sum of money will become . 4,000 in 20 yenr nt compound interest rate 5% per annum?
r . ' .
log 2 = 3010, log 4 = A771, log 7 = #4151 log 113 = 2 0531
29000 280/80/75/50
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